Compound Pendulum

This is a simple exercise to get you to produce a well labelled graph of the kind you will be expected to do for your laboratory write-ups. 

Using the data given in the spreadsheet​​​​​​​​​​​​​​ ‘comp_pendtask.xls’, produce an XY (scatter) plot using T2h (s2 m) values for the y-axis and h2 (m2) values for the x-axis. 

Add error bars to the plot using data in column D for errors in T2h (s2 m). (You may use the data in column B for errors in h2 if you think it appropriate).  
Show a trend line (line of best fit) on the graph and display its equation.

Label the axis including the units.  To do this you will need to insert superscripts into the axes’ labels.  (Excel is more limited in this than WORD.)  Type all the text of the axis label including superscript (subscript) characters.   Then select the character you wish to be a superscript (subscript), followed by the menus Format/Select Axis Title/Font/ and tick the Superscript box.  When completed the plot should be similar to that shown below. 
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From now on, all plots should have suitably labelled axes and Title and, where appropriate, a legend when more than one quantity is plotted on the same chart.  

Save your spreadsheet as “your username”-comp-pend_1.xls.
_1140522575.xls
Chart1

		0.199809		0.000894		0.000894		0.0715658019		0.0715658019

		0.161604		0.000804		0.000804		0.0631621147		0.0631621147

		0.121801		0.000698		0.000698		0.0534482874		0.0534482874

		0.092416		0.000608		0.000608		0.0462657239		0.0462657239

		0.061009		0.000494		0.000494		0.0378634321		0.0378634321

		0.041616		0.000408		0.000408		0.0323285298		0.0323285298

		0.021609		0.000294		0.000294		0.0248567568		0.0248567568

		0.010816		0.000208		0.000208		0.020305432		0.020305432

		0.002209		0.000094		0.000094		0.0142983402		0.0142983402
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		x				y

		h2 (m2)		d(h2)		T2 h (s2 m)		d(T2 h)

		0.1998		0.0009		1.18		0.07

		0.1616		0.0008		0.94		0.06

		0.1218		0.0007		0.81		0.05

		0.0924		0.0006		0.67		0.05

		0.0610		0.0005		0.59		0.04

		0.0416		0.0004		0.53		0.03

		0.0216		0.0003		0.41		0.02

		0.0108		0.0002		0.38		0.02

		0.0022		0.0001		0.33		0.01
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